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Figure 3.5. Distribution of Quaternary deposits in the Baltic Sea (Al-Hamdani et al., 2007).
BALANCE-project. (Printed with permission from Professor Aarno Kotilainen.)#



Figure 3.12. Long-term mean annual course of salinity (in%) at different depths in Utö during
1911–2005. Depths are shown on the right in meters. (Prepared by M.Sc. Riikka Hietala,
printed with permission.)

Figure 3.14. Long-term mean annual course of temperature (in �C) at different depths in Utö
during 1911–2005. Depths are shown on the right in meters. (Prepared byM.Sc. RiikkaHietala,
printed with permission.)
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Figure 5.5. Upwelling off the northern coast of the Gulf of Finland on September 2, 2002 (the

figure was processed at the Finnish Environment Institute (SYKE) from NOAA/AVHRR
satellite data received by the Finnish Meteorological Institute).



Figure 5.9. A schematic of the large-scale internal water cycle in the Baltic Sea. The deep layer
below the halocline is given in the lower part of the figure. Green and red arrows denote surface
and bottom layer circulation, respectively. The light green and beige arrows show entrainment,

the gray arrow denotes diffusion. (Elken and Matthäus, 2008, printed with permission from
Springer-Verlag.)
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Figure 5.24. Bornholm Deep–Stolpe Channel–Gdańsk Deep temperature transects measured by
R/V Oceania (from top down) in August 2003, November 2003, January 2004, February 2004,

and May 2004 showing the eastward propagation of warm inflow water over Stolpe Sill into the
southeastern Gotland Basin. (Feistel et al., 2004, printed by permission from Oceanologia.)
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Figure 5.28. (Top) Simulated mean surface circulation in the Gulf of Finland. (Bottom) The
stability of currents. Calculations are for the years 1987–1992. (Andrejev et al., 2004a.).
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(a)

Figure 6.13. Wave growth as a non-dimensional diagram: (a) Energy as a function of fetch;
(b) peak frequency as a function of fetch. Solid line shows the theoretical form, the symbols

denote data from the Gulf of Finland (GoF), Vanhankaupunginlahti Bay at Helsinki (Vkl), and
the Gulf of Lyon (GoL), Mediterranean Sea. (Redrawn from Pettersson, 2004.)

(b)



Figure 7.4. Ice crystal structure in Baltic Sea ice (left) and lake ice (right). The top layer is

fine grained snow ice, and the lower layer is columnar-grained congelation ice. (Prepared by
Dr. Toshiyuki Kawamura, printed by permission.)
-



Figure 8.11. Monthly
mean composites of
sea surface

temperature in �C for
September 2003 (top)
and September 2005

(bottom). Sea-surface
temperatures are
constructed by
combining (averaging)

available NOAA
satellite overpasses for
one month. The scale

for sea surface
temperatures is from
�1.0�C to 22.0�C, in
increments of 1�C.
(Prepared by Dr.
Andreas Lehmann,

printed with
permission.)



Figure 8.12. Measured temperature (�C) cross-section in the Gulf of Finland in summer 2006
(Estonia on the left side, Finland on the right side). (Top) Stratification is normal off the
Estonian coast on July 11; (bottom) pronounced upwelling in this region on August 8. (Prepared

by Inga and Urmas Lips, Marine Systems Institute, Tallinn Uniiversity of Technology, printed
with permission.)
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Figure 9.5. Chlorophyll amaximum in July 2005 in the Baltic Sea based on MODIS data from
the Terra/Aqua satellite. This was produced by an empirical algorithm fitting in situ chlorophyll

a data in 13 reflectance bands with PLS regression analysis. (Prepared byDr. SeppoKaitala and
Mr. Henrik Stutz, Finnish Institute of Marine Research, printed with permission.)



Figure 9.7a. Near-bottom oxygen conditions (mL/L) in the Baltic Sea in 1993. Red represents

anoxic conditions and yellow critically low oxygen concentrations of less than 2mL/L.
(Courtesy of M.Sc. Jan-Erik Bruun, Finnish Institute of Marine Research.)



Figure 9.7b. Near-bottom oxygen conditions (mL/L) in the Baltic Sea in 1994. Red represents

anoxic conditions and yellow critically low oxygen concentrations of less than 2mL/L.
(Courtesy of M.Sc. Jan-Erik Bruun, Finnish Institute of Marine Research.)



Figure 9.7c. Near-bottom oxygen conditions (mL/L) in the Baltic Sea in 2006. Red represents

anoxic conditions and yellow critically low oxygen concentrations of less than 2mL/L.
(Courtesy of M.Sc. Jan-Erik Bruun, Finnish Institute of Marine Research.)



Figure 9.7d. Near-bottom oxygen conditions (mL/L) in the Baltic Sea in 2007. Red represents

anoxic conditions and yellow critically low oxygen concentrations of less than 2mL/L.
(Courtesy of M.Sc. Jan-Erik Bruun, Finnish Institute of Marine Research.)
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Figure 9.14. The wave forecast for January 9, 2005 at 08:00gmt provided by the Finnish
Institute of Marine Research. On that day a significant wave height of 7.2 meters was observed
in the Northern Gotland Basin, which is close to the record value. In the forecast map the wave

height (inmeters) is shown by colors andwave direction is given by vectors. The areas with white
color in the Bay of Bothnia are ice-covered. (Prepared byM.Sc. Laura Tuomi, Finnish Institute
of Marine Research, printed with permission.)
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